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(gedit tcp_server2.c's

socbet()
bind()
%

listen()

Had A
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accept()

read()
v

write()
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close(client)
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close(server)
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O Hint: tcp_serverl.c8| O} 24 A E B3F0| €5

memset(&serv_addr, 0, sizeof(serv_addr));
serv_addr.sin_family=AF_INET;
serv_addr.sin_addr.s_addr=htonl(INADDR_ANY);
serv_addr.sin_port=htons(4880);

error_handling("bind() error");

if(listen(serv_sock, 5) == -1)
error_handling({"listen() error");

AL AL
2 AEFF

if(bind(serv_sock, (struct sockaddr*) &serv_addr, sizeof(serv_addr)) == -1)

clnt_addr_size = sizeof(clnt addr);
clnt_sock=accept(serv_sock, (struct sockaddr*) &clnt_addr,

if(clnt_sock == -
error_handling("accept() error");

while((str_len = read(clnt_sock, message, BUFSIZE)) != 08) {
write(clnt_sock, message, str_len);
write(1, message, str_len);

close(clnt _sock);

&clnt_addr_size);

return 0;

}

vold error_handling(char * message)

fputs(message, stderr);
fputc('\n', stderr);

2

exit(1);
1
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0¢ sjhong@ubuntu: ~/program 2 sjhong@ubuntu: ~/program
AL sjhong@ubuntu:~/program$ ./tcp clientl
sjhong@ubuntu:~/program$ ~C Input message (g to quit) : asdf
sjhong@ubuntu:~/program$ ./tcp server2 Message from server :asdf
ale
sjhong@ubuntu:~/program$ clear Input message (g to quit) : asdf
Message from server :asdf
sjhong@ubuntu:~/program$ ./tcp server2
asdf Input message (gQ to quit) :
Message from server :we

Input message (g to quit) :
Message from server :v

Input message (g to quit) :
Message from server :d

Input message (g to quit) :
Message from server :w

Input message (g to quit) : g
sjhong@ubuntu:~/program$ .ftcp clientl

Input message (g to quit) : df
Message from server :df
9 ororjor
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fork.c (~/program) - gedit

Open ~ |

#include <stdio.h>
#include <unistd.h=
#include <sys/types.h=

int main()

pid_t pid;
int data=10;

pid=fork();
if(pid==-1)
printf("fork fail, process id : %d\n", pid);

printf("fork success, process id : %d \n", pid);

if(pid==0)

data +=10;
else

data -= 10;

printf("data : %d \n", data);

return 6;

C~ Tabwidth:8 = Ln 1, Col1 - INS

Hanyang University — Computer communication [ 2018 ] -6 -

) $HOS Y O
HANYANG UHIVEREITY




T2 MA0

Aol-lkl

F.. %

ACSignal : 2

5 @ wailt

ACSignal : 2
sjhong@ubuntu:~/program$
sjhong@ubuntu:~/program$
sjhong@ubuntu:~/program$
sjhong@ubuntu:~/program$
sjhong@ubuntu:~/program$
sjhong@ubuntu:~/program$
sjhong@ubuntu:~/program$
~C
sjhong@ubuntu:~/program$
sjhong@ubuntu:~/program$
fork success, process id
data : ©
sjhong@ubuntu:~/program$
data : 20

sjhong@ubuntu:~/program$
fork success, process 1id
data : ©
sjhong@ubuntu:~/program$
data : 20

sjhong@ubunktu: ~fprogram

gedit fork.c
gedit fork.c

gcc -o fork fork.c
./fork

23069
fork success, process id
.[fork

23073

fork success, process id
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O gcc -o zombie zombie.cE ALY

Binclude <stdio.h=
#include <unistd.h>
#include <sys/types.h>

int main()

{
pid t pid;
int data=10:
pid=fork();
if(pid==-1)
printf("fork fail, process id : %d\n", pid);
printf("fork success, process id : %d \n", pid);
if(pid==0)
data +=10;
else
{
data -= 108;
sleep(20);
1
printf("data : %d \n", data);
return 8;
b
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./zombie &2 Z MW (&= B2}

— ps-us SO X FH Z2MNL7F EX oA

Hanyang

sjhong@ubuntu
sjhong@ubuntu
sjhong@ubuntu
sjhong@ubuntu

sjhong@ubuntu
sjhong@ubuntu
[1] 23207
sjhong@ubuntu
fork success,
data : 20

sjhong@ubuntu

sjhong@ubuntu: ~fprogram

:~/program$ gedit zombie.c
:~/program$

:~/program$

:~/program$ clear

:~fprogram$ gcc -o zombie zombie.c
:~fprogram$ ./zombie &

:~/program$ fork success, process id

process id : @

:~/program$ ps -u

: 23208

USER PID %CPU %MEM V52 STAT START
sjhong 22223 0.0 0.2 29608 5s

sjhong 23207

sjhong 23209

4352 5

44432 R+

0.0 0.0
sjhong 23208 0.0 0.0 0 z
0.0 0.1
rogram

sjhong@ubuntu

:~/Pp

é data

Y
18:35
18:35
18:35

COMMAND

bash

./zombie

[zombie] <defuncts
ps -u

ot
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Binclude <stdio.h=
#include <unistd.h=
#include <sys/wait.hs>
#include <sys/types.h=

int main()
pid_t pid, child;
int data=108;
int state;
pid=fork();
if(pid < @)
printf("fork fail, process id : %d\n", pid);

printf("fork success, process id : %d \n", pid)};

if(pid==0)

data +=10;
else
{

data -= 18;

child = wait(&state);

printf("child process id = %d\n", child);
printf("Return value = %d\n", WEXITSTATUS(state)});
sleep(20);

}

printf("data : %d \n", data);

return 9;
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sjhong@ubuntu: ~/program

sjhong 22223 0.0 0.2 29608 5380 pts/4
sjhong 23207 0.0 0.0 4352 636 pts/4
sjhong 23208 0.0 0.0 e 6 pts/4
sjhong 23209 0.0 ©.1 44432 3292 pts/4
sjhong@ubuntu:~/program$ data : ©

ale

[1]+ Done ./zombie
sjhong@ubuntu:~/program$
sjhong@ubuntu:~/programs
sjhong@ubuntu:~/program$ gcc -o wait wait.c
sjhong@ubuntu:~/program$ . fwait &

[1] 23304

sjhong@ubuntu:~/program$ fork success, process id
fork success, process id : @

data : 20

child process id = 23305

Return value = 0

sjhong@ubuntu:~/program$ ps -u

PID %CPU %MEM VsZ RSS TTY STAT START

22223 0.0 0.2 29608 5380 pts/4 Ss

23304 0.0 0.0 4352 632 pts/4 S

23306 0.0 0.1 44432 3400 pts/4 R+
sjhong@ubuntu:~/programs |
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17:19
18:41
18:41

./zombie
[zombie] <defunct>
ps -u

COMMAND
bash
.fwalt
ps -u
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